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» Please check that this question paper contains 16 pnnted pages.

¢ Code number given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

e Please check that this question paper contains 36 questions.

e Please write down the Serial Number of the question before
attempting it.

e 15 minute time has been allotted to read this question paper. The
question paper will be distributed at 10.15 a.m. From 10.15 a.m. to .
10.30 a.m., the students will read the question paper only and will not
write any answer on the answer-book during this period.
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General Instructions :

(i)
(ii)
(iit) -
(iv)
( v)_
(vi)
(vii}
(viii)

(ix)
(x)

317212
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The question paper comprises two sections, A and B. You are to attempt both
the sections.

All questions are compulsory.
- There is no choice in any of the questions.

All questions of Section A and all questions of Section B are to be attempted
separately.

Question numbers 1 to 3 in Section A are one-mark questions. These are to be
answered in one word or in one sentence.

Question numbers 4 to 6 in Section A are two-marks questions. These are to be
answered in about 30 words each.

Quesiion numbers 7 to 18 in Section A are three-marks questions. These are to
be answered in about 50 words each.

Question numbers 19 to 24 in Section A are five- marks questions. These are to
be answered in about 70 words each.

Question numbers 25 to 33 in Section B are multiple choice questions based on
practical skills. Each question is a one-mark question. You are to select one
most appropriate response out of the four provided to you.

Question numbers 34 to 36 in Section B are two-marks questions based on
practical skills. These are to be answered in brief.

2
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RIL
SECTION A

Write the molecular formula of the first two members of the horaologous
series whose functional group is - CHO. :

| SO AT |

Name the organ in humans which produces (i) male germ cell, and
(ii) female germ cell.

8. Tl O wiphow i gt e | w #2047
- List any two natural ecosystems. B w -3

4. :ﬁwﬁrﬁaﬂaﬁaaﬁmm-gﬁﬁmmtﬁamwaﬁammwm;

e s waﬁammﬁw(ﬁ}.aﬁzmmﬁmumﬁaﬁmﬁﬁq . 2

ey
c Fﬁ

Redraw the following diagram on your answer-sheet and show the path of
the reflected ray. Also mark the angle of incidence (£ i) and the angle of
reflection (£ r) on the diagram, : : '

. s

T~ %
g

6. T W “fﬁaﬁ%wwﬁﬁmwa”'mﬁwm% ? W & vm

o gsamm%mﬁéaﬂ%ﬁmaﬂxmsﬂm%wﬁmmim

~ Why are certain forests considered “biodiversity'hot spots” ? Suggest any

two ways in which an ‘individual can contribute effectively to the
management of forests and wild life.

2 =

sz | . 8. P.T.0.

»

”
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6. Gﬁmméaﬁ%agqaaaﬂﬁaﬁwm lﬁmﬁ%whmmzﬁm
| YW T 3FAE hITT |
List the products of combusi.lon of fossil ﬁlels State the han:nful effect of _
: these products on the environment. _

7. Tt oo Y o T 193 |
(a) mﬁwﬁaﬁﬁmmm%ﬁmﬁmﬁﬁwwﬁ#
© R R, T (i) N AL AR U ® AT ST | - -
® _EW%MET@WI :

(¢ 198 = Na (wmq;mup‘rwmﬁaﬁaaﬁ%&mﬁa%
v 9 siffseareie ? mﬁwﬁu@maﬁagﬁaﬁﬁm

The atomic number of an element is 19. ‘
(a)  Write the electronic configuration of this element and determine
(i) the Valency of this clement, and (ii) whether this element is a
- metal or a non-metal. : o
“(b)  Write the formula of the oxi ide of this element.
(e} Is this element more reactive or less reactive than Na (aton'uc
number 11) ?Justify your answer giving example.

8. Tt armad wwoft 3 Tt & wifewm F o vy gemmE i gee
. GE B A SUgE Mo 9 WS € 2 engfek ot wreft # () Rt
AR A TE R A H A IR W, R ) PR ap iR R A w®

ﬁaﬁ&wmﬁaam%amwﬂaﬁa@m%?aﬁmﬁﬁwu%agﬁ
o

Why is atomnic number considered to be a more appropriate parameter
than atowc mass for the classification of elements in a periodic table ?

" How does the metallic character of elements vary as we move (i) from left .
to right in a peried, and (ii) top to bottom in a group in the modern
pericdic table ? Give reasons to justify your answers.

_._9;- ﬁmwﬂ-ﬁ%ﬁq,éﬂisﬂﬁm@ﬁq]m%mﬁwﬁw'
- 1 g s A wewdsh Rt st R & e d € ) '

" Write the molecular formula of benzene and draw its structure. List in
tabular form the two properties in wluch covalent compounds differ from
ionic compounds.

3R , - 4‘ |
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10. RV 0 §U SRS HifQ 76 THT | ] 5 e 9 a0 CH GEe o7 Hohdl B

- @RA R O WU S gl B, W%mﬁﬁﬁm%sﬁﬁgﬁ%
FETERE B & SN e fe e ot e weeEim A R 1 3
Explain, giving reason, why carbon neither forms C** cations nor:
C*~ anions, but forms covalent compounds which are had conductors of -

: electricity and have low melting point and low boilingr point.

11. et % whefis % soma o gemss fhdl @i il w0 g oY AR S
# e @ e A sgw ey - ' 3

List any three factors and mention how they could lead to the rise of a
new species.

12. Sl ¥ fremedia qrsee @i o el i ffudt 1 aoim Hifd | 8

Describe any three methods of tracmg evolutionary relationship amongst_
organisms. . .

13, St § faftmar e SR ocw @9 2 2 ﬁ%ﬁﬁmmazﬁraﬁmﬁﬁmm
mﬁﬁmﬁﬁ%l”wﬁﬁﬁgﬁﬁﬁmﬁmﬁiﬁml 3

How do variations arise in organisms ? “Variation is useful for the
survival of species.” Justify this statement with the help of an example.

14,  gegHa w1 8 ? el w i w1 s SR S 3w aben i ogiar 3 o
. ek Sig S 3| Wi 1 T guildn @ | 918 91 S B qegHeR # il A e 7 3
What is regeneration ? Give one example of an organism that shows this

process and one organism that does not. Why does regeneratmn not occur
in the latter ?

15. ﬁﬂmw%?mﬁaﬁw&mﬂwmaﬁﬁm 3

What is placentia ? Describe its two major functions. ‘

@ foreft ST gro o Wit = T — 1%Iﬂﬁuﬁﬁmﬁﬁa%wﬁm

- HR UG 36 em 3, A fam wwi fum @ 7 3w @ < Wl ol wreE gl

2 7 wig frm 7w & vl S Y 3 20 em wERE W e s,
wfifars w0 o s SR = A 2 mﬁma?rgrf@%%rﬁ%w :
Mg i | 3
The magnification of an image formed by a lens is ~ 1. If the distance of
the image from the optical centre of the lens is 35 cm, where is the object
placed ? What is the nature and focal length of the lens ? If the object is -
displaced 20 cm towards the optical centre of the lens, where would the

image be formed and what will be its nature ? Draw a ray dJagrani to , E
JllSt]fy your answer.

317212 : . 5 o : P.T.O.
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What is scattering of light ? Use this phenomenon to explain- why the

clear sky appears blue and the sun appears reddish at sunrise.

18,

U WA ht Ted & A7 W of £ well F w (qw) wht ¥ e e
AR B § | T T 38R aenTa § 98 ugt i awR 4 syesy we
TS % Tl % W A $O R 9% VoS g mw | 8 THEH 98 5 |
3, Fifs Nghani g @ & Rm et IR s |

(a) 39 IO ATATS Bl AT figwREl 'ﬁ.i"ﬁ?’t%t&tﬁﬂ{fﬁam

e TR w2
(b) F8 FEr v 2 B g g deene’t el o o= et % sl i
- maﬂ%vﬁﬁﬁ?{aﬁ%ﬁ?ﬁ‘?ﬁm%aﬁﬁ@ﬁﬂt@ﬂ@ﬁaﬁ
Flere FF TH dER § nwwﬁmmmaﬂtsﬁﬁwﬁ
fafeg, |-
Your mother always thought that fruit juices are very healthy for
everyone. One day she read in the newspaper that some hrands of fruit
Jjuices in the market have been found to contain certain level of pest1c1des :

_in them. She got worried as pesnmdes are injurious to our health.

(a). How would you explain to your m_other about fruit juices getting
- contaminated with pesticides ?

.(b) It is said that when these harmful pesticides enter our body as well

19,

as in the bodies of other organisms they get accumulated and
beyond a limit cause harm and damage to our organs. Name the
phenomenon and write about it.

mﬁaeﬁwfﬁﬁl@(m%muﬁﬁm@(ﬂﬁsmaﬁ@ﬁaﬁﬁ _
Fefafies e ﬁmwﬁw@\wﬁﬁqaﬁwﬂma%qﬁmﬁrﬁm%@a .

W % T R ;

31/2/2

Download from:

=N fmgh .aﬁﬁm-@
se | 1u (cm) . v (cm)
1 -60 | . +12
2 -30 +15
'3 -85 . +20
4 -15 +30
5. =12 + 60
6 e + 90
6
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(a)
(b)

(e)

Analyse the following observation table

[ - 2 - -
-

\.._.»’\,__./\.._ \L - “-——\-—-/—-—-————\.

AC‘]}S‘-’E Coacﬁing for OMathematics and Science

e S 1 e gl Rl 3 7 99 3 3 R o AR |
ag feragll (u) W R Reeh! agredt sffragl e @it 1w
s s frwr wer Pt 7. -

aﬁ%tﬁmﬁmwiwm4%mwm@ﬁqaﬂt
mﬁqwmmmaﬁrﬁm

showing vaoriation of

image-distance (v} with object-distance (u) in case of a convex lens and
answer the questions that follow without doing any caiculations :

(a)

®)

(@)

(a)

®)

31/212

Download from:

) Object-Distance | Image-Distance
S. No. %
- 1 (cm) v (cm)

i —60 +12 o "

. Lo~
2 —80 +15° Yoeh

: , ¥ og g o
3 ~20 +20 %
' "
4 —1b: - + 30 'I;_/
5 N ) 60 RS
- 1 e Sy % 0
R -9 +90 _ % 3

_ .
What is the focal lengt'h of the convex lens ? State reason for your ?’ o

© answer. : &

- For what object-distance (w) is the cofres’.ponding image-distance. (v)

not correct ? How did you arrive at this conclusion ?

Choose an appropriate scale to draw a ray diagram for the
observation at S.No. 4 and: find the apprommate value uf

magnification.
ﬁﬁaﬁﬁ%'ﬁaﬁﬁﬁmﬁrﬁaﬂﬁaﬁmaﬂﬁq:

0 4=
(i) a1 H

- (i)  oshar BT
(iv) &Iy

(). A qd, aﬁt(u)ma@w%gaqﬁamaﬁmﬁ%%qﬁm

aﬁ@d’fﬁw;l

7 | | P.TO.
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i

(a)  Define the following terms in the context of spherical mirrors :
. ® Pole o
Gi) 'Centre of curvat:me
- (iii) . ' Radius of curvature
(iv) Principal axis

() Draw ray diagrams to show the prmmpal focus of () a concave
g ' rmrror, and (i1) a convex l:mrror ,

(¢) In the fo]lowmg diagram, MM is a concave mirror and AB isan |
object. Draw ¢n your answer-sheet a ray diagram to show the
furmahon ufmage of this obJect '

M

21, (a) Wh%ﬁmﬁmmmmmﬁw

@ W

Gi) i

(i) FrediT (fET) @w

(iv) et afmi

w e
31/212 | | 8
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(b) o =afe 1 m @ w0 gl R Rt W e T 3w T | 9w B
g Qv & ka8 2 @ gfR QU w1 w0 o IS 9 g gw:
 HYir T o e ﬁs«:m g gif | | _
(a) Wnte the functmns of each of the fo}lawmg parts of the hnman eye
@)  Cornea .
(ii) - Iris .
(i) = Crystalline (Eye)lens
- (Gv) Ciliary muscles
v) _Retina

® A person is unable to see distinctly the objects closer than 1.m..
' Name the defect of vision he is suflcring from. Draw ray diagrams
to illustrate the cause of the dﬁ}tect and its correction by smtable

'~ lens.

mwﬁﬁ?wﬁ-mmﬁmm%?ﬁmmm

TaERE afieo fafae | da e 99 IS TR Aifem Tegieans & wig

afRra Xt 2 23w whiBen o v e adfieor, Am ot swi Rl |

What are esi:ers ? How are esters prepared ? Write the chemical equation
for the reaction involved. What happens when an ester reacts with

sodium hydroxide ? Write the chemical equation for the reaction and also

state the name and use of this reaction. -

@féitﬁaﬂtmwﬁgﬁm?ﬁ@mﬁq | g1 # B T R/ %
Q IR % A Big B | T dan R 5 R s e 3ugeE afde

g S & 2 o 3 e faor 9 @ areh werdt % it ¥ fafae |

Give one exawple each of unisexual and bisezual flowers. Differentiate

between the two types of pollination that occur in flowers. What happens

when a pollen lands.on a suitable stigma ? Write about the events that

occur i1 the seed formation in the ovary.

e @ 29§ 2 S few v w ol W ong w1 P R

TR T S § 290 R % srerm # Saret % wee W Seoe i |

‘What are fossils ? How are fossils formed and how is their age

317212

Download from: | http://jsuniltutorial.weebly.com/ - Page 9 of 16

determined ? State the importance of fossils in the study of evolution.
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W
SECTION B

| 25, ﬁﬁﬁa@aﬁﬁwlﬁmﬁgﬁﬁiﬁﬁ:

(A)

(B)

(©

THmeg & vE IR fiael & @

He * Y@ SR THEE F TG

foaeft % 9@ it $IR & 9E@ |
ST % IR, m%mﬁﬂ@mﬁm

Select a set of homologous organs froin the fallo‘mng g

(A)
(B)
(&)
D)

Wings of a bat and wings of a butterfly

Wings of a pigeon and wings of 2 hat

Wings of a butterfly. and wings of a pigeon -

Forelimbs of a duck, forelimbs of a cow and forelimbs of a lizard

26. Wﬁwﬁu&m#ﬁpﬁmﬁiﬁamﬁﬁ@@wﬂ@gﬁq .

e

IT.

III.

- IV,
Y
(©)

S HiNET @ W Wi Hafy Rt d ke oedf ] ok ==
T 1 AT §HId @) ST # |

wait Gt g 3 orfers Wat St 3 R g d
T H H S Fdy @ F 0 qger v @ |
mﬁw@#%ma@ﬂﬂﬁﬁ#@mwwwmm

AT E | _
' -aam ' (B) e I
e I SR IO . O FEemekIv

. Choose the correct statement(s) on budding in yeast from the following :

I

I,

IT1.

IV.

&)
- (©
31/212

Download from:

A parent cell divides into two or more daughter cells and here the
psfrent identity is lost.

In this the elongated nucleus d1v1des to form two or more daughter

 nuclei,

A bud arises from a particular region ona parent body.

'After detaching from the parent body the bud grows into a new

independent individual.
"Tonly _ ; (B) Ionly

II and IIT o_z'lly ' ' (D) 11 and IV only
' 10 ;

http://jsuniltutorial.weebly.com/ Page 10 of 16
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%&ﬁmﬁ'ﬁémﬁmg“ﬁﬁﬁrﬂi%ﬁmm@ﬁ@%uﬁﬂmaﬁ
o & R o 3\ 3R @ 24 m{&mﬁﬁaqﬁmﬁmﬁmmmw .
RiwaEF MA@ eyt

1
A) 12 cm VI Zh I g -
B 24 e HRE g 1 I S
(€) 24 co WY gft 1 raaet giur
(D) 12 cm HiE O 1 I
An optical device has been given t6 a student and he detefmines its focal
length by focusing the image of the sun on a screen plaoed 24 ¢m from
the device on the same side as the sun. Select the correct statement about
the device. : J 3
(A) Convex mirrot of focal length 12 cm e A }
(B)‘ Convex lens of focal length 24 cm
(C) Concave mirror of focal length 24 cm -
)] Convg_xlens nffoeal]engi;h 12c:m :
. 3 Eh oo S &t B ) e
28, ﬁa%ﬁa@rg&ﬁ mﬂmﬁmwwaﬁﬁﬁamﬁﬁiﬁqﬁﬂﬁﬁaﬁ
- } watw Hﬁhﬁﬂa Fe 9 1
NN YN
] ] I I
1 1 ] - ]
1 \ 1 i '
: 4 : B P
. 1 1 ) 1 )
1 o m S A
@ 1I
B I
© m
D Iv o
11777 B ST s e pTe,

Download from: http://jsuniltutorial.weebly.com/ Page 11 of 16



- Select from the fo]]amng 'I:he best expenmental set-up for tracmg the
path of a ray of hght through a glass sIab - ;

1 "
I 1
1 L ]
1 i

I S

/

A I
® O

(©) I

@ IV

29, mmmmﬁam@q@mmﬁ aq@ﬁ‘uﬂ%iﬁné% >
_uﬁﬁwﬁq&mtﬁﬁam&% ﬁﬁmwﬁﬁwﬁmﬁﬁﬁrﬁaﬂ
%‘? -

4 J LT L
(©) - o) j
. T " |

B B
-Download from: : htfp://jsuniItutorial.weebly.com/- ’ ~ Page 12 of 16
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When you focus the image of a"dis_tant flag, whose shaﬁe’ is given below,
on a screen using a convex lens, the shape of the image as it appears on

“ J (B)L

AR it § AR D B o B2 7

the screen is

(a) wit ) By FEA@LidR LA
(C) Zi/r3R LA D) Zi,ZAIM 4D
In the fo]lqmﬁng diagram, the correctly ma.rked angles are

_ A . 5 4

@ an. - (B) Only Ziand ZA
(©) Zi,ZrandZA D) Zi,ZAandZD

13 CE : P.T.O.
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L]

31, a&m%&ﬁmﬁwwwﬁwaﬁmwﬁi@ﬁmm
frremt aft f 3a fimm Y weh-aff feemd ot g W % e W@ W
g W fir Remegen @ 3, 9 e 5 e e s e w5 2

@) WREsaR TR R T
B) H FEdT W A A WA @ |
(©) eETeht B T % gage e ® €
(D) wEe § Ews, T ure e o
If you take some distilled v;rater in a test—tuﬁe; add an equal amount of
acetic acid to it, shake the test-tube well and leave it undisturbed on the
test-tube stand, then after about 5 minutes, what would you obsme ?
(A) Thereis a layer of water over i layer of acetic acid,
(B) A precipitate is settling at the bottora of the test-tube.
W - Bubblés of colourless gas are coming out of the test-tube.

(D) . Thereisa clear, colourless transparent solution in the fest'—_ﬁ;be.

32. frfiied wrh & gyl § & e swEn argr s 3 R s 2 2
(A) = de ofit Fiwaw wEgiTEEeS
- (B) mwﬂaaﬁr@&mmﬁm
©  whe ¥ o v g
®) ﬁ“mﬁel’éﬂtﬁﬁlﬂw

Whiclh one af the following sets of materials can be used 1;0 prepare soap 9
- (A) Npem oil and calcium hydmmde

(B)  Castor oil and sodium hydromdp

(C) Mineral oil and sodium hydroxide -

(D) Neem oil and magnesium hydroxide

317272 | 14
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33, mmz‘imaﬁm%mww% |ﬁmf%-rfa?raatrﬁ%mg
T ¥ 39 wgg W gh, ﬁmﬁsﬁﬁﬁtﬁ@waﬁ mwmﬁa‘@m
oR el TS F Hohd B 1 g e, 1
(A) - NaCL NagSO. KCl o ' |

(B) NaCL CaCly; KCI . -

(C) - CaCly; CaSO4 MgSO4
(D) NaySOg CaSOy; MgSO,
You are asked to prepare hard water in your !aboratory. Select a .gi'oup

* from the following groups of salts, any salt of which vou may d:ssolve in
djstllled water to obtain hard water. S

(A)  NaCl; NagS04; KCl
(B) NaCl; CaCly; KCI
(@)  CaCly CaSOg; MgSO,
(D) NaySO,; CaSO4 MgSO,
84.  HT ¥ ARAHR W W 45° & F W UG TE BT 7 9T SRR
iR | SAvedT W, ﬁ!ﬁﬁwaﬂtﬁaﬁgﬁﬁmﬁﬂwﬁ@ﬁm@lmﬁW* :
Toremm < 79 %rﬁ’aq | 2

Trace the path of a ray of light mcldent at an angle -of 45° on a

. rectangular glass slab. Write the measure of the angle of refraction, the
angle of emergence and the lateral displacement suifered by the ray as it
passes through the slab. :

3. (@A) wﬁwn@%m%ﬁmﬁ%ﬂaW%MﬁW%@%

: %hquq,a‘rmw%éﬁ?
(i) Y
(i) ﬁ—la:mqwtna

(B) qﬁmﬁwﬁﬁ@wmﬁmz@mmﬁzmﬁw
I oz W R o T, a’rmgvaé’iw@ﬁﬁ‘?
%awﬁaﬁﬁ@wl . | 2
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(A)" If you are asked to report your observations about the foﬂo‘win.g
two propemes of acetic acid, what would you repurt r

@ Odour iy
(i) Effect on litmus -

('B)- If you take a pinch of sodium hydrogen carbonate powder in a
test-tube and add drop-by-drop acetic acid to it, what w::uld you
- observe immediately ? List any two main observations.

3. mﬁ%%ﬁa%w%ﬁﬁﬂmﬁﬁww wmm%.
| JMYh GRT SIS ST STt Wfs6aT 1 aoia i |

- You have to perform the expenment, “T'o 1dent1fy the different parts of an
_ embryo of a gramseed.” Describe the procedure that you would follow.

st | 16
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